Math 1B (7:30am - 8:20am) What month is your birthday ?

Quiz 1 Version A _ What are the first 2 digits of your address ? AL L

Fri Apr 16, 2010 What are the last 2 digits of your zip code ? A
_ ~ What are the last 2 digits of your social security number ?

SCORE: ___ /30 POINTS [IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER]

~ YOU MUST SHOW PROPER CALCULUS LEVELWORK

State the definition of “definite integral”, _ & = SCORE: ___ /2 POINTS
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State the Fundamental Theorem of Calculus Part 1. SCORE: ___ /2 POINTS
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Use the definition of the definite integral, and right endpoints, to evaluate I(l +4x) dx. SCORE: ___ /6 POINTS
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Suppose Iarctanx dr=1.2, Iarctanx dx =4.0 and Iarctanx dx=2.7. SCORE: ___ /8 POINTS
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[a] Find I(S —3arctanx) dx. [b] Find Iarctanx dx . HINT: Find _[arctanx e
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- FOR THE FOLLOWING QUESTIONS 'YOU MUST SHOW HOW YOU FOUND YOUR ANSWERS.
HOWEVER, YOU DO {o¥ HAVE TO USE FORMAL CALCULUS NOTATION. i

The velocity of a car as a function of time V(¢) is shown in the graph below. SCORE: ___ /3 POINTS
Find the total distance travelled by the car from t =0 to / = 4.
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The graph of f'(f) shown below consists of 3 semicircles of radii 1, 2 and 3. Let g(x) = If(t) dt. SCORE: ___ /6 POINTS

4‘_tl’m
]  Find g(4).

- 3701y + {ﬁ(z):;— LA(2)"

G}L:'—@Qﬁf%g) = a ////% ey

s Z"‘ i = LR T 2 3
\ 44 IC/ — NO PAIRTIAL C (’CD' | W =0 | //
[b]  Find g'(~1). IF THHS (R WRONG Al /
CDefL) 2, DETSees 3
I ERpeor ABOVE

10
The graph of f(x) is shown below. Estimate If(x) dx using 3 subintervals with midpoints. SCORE: ___ /4 POINTS
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